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D = −0.09 ps/nm/km S = 0.019 ps/nm2/km
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0.84 dB/km
A(0, t) =

√
P0sech(t/τ0) τ0 = 1.8ps λp = 1535nm

β2 = 0.53ps2/km β3 = 0.03ps3/km β4 = 0
γ = 10.5km−1W−1



1520 1540 1560 1580
Wavelength [nm]

-60

-40

-20

0

No
rm

al
iz

ed
 P

ow
er

 [d
Bm

] exp. P=25 dBm
exp. P=23 dBm
sim. P=25dBm
sim. P=23 dBm
NSL P=25 dBm

a)

-12 -8 -4 0 4 8 12
Time [ps]

0

1

2

3

4

In
te

ns
ity

 [W
]

P=23 dBm
P=25 dBm
NLS P=25 dBm

b)

sech2

τ0 = 1.8ps PIN 23.0dBm 25dBm
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τ0 = 2.5ps P0 = 1.6W z = 800m β2 =
0.2ps2/km β3 = 0 β4 = 0 β3 = 0.01ps3/km β4 = 0 β3 = 0.01ps3/km
β4 = 1.7 × 10−4ps4/km
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LNL = 1/(γP0) LD/L′
D LD = T 2

0 /|β2|
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D = T 3
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β3 = 0.01ps3/km
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β4 = 0
β4 = 1 × 10−4ps4/km
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z = 170, 240, 280m P0 = 1.6W
τ0 = 2.5ps β2 = 0.2ps2/km
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β3 β3 = 0.009ps3/km
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